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[T T 21T 371 4 5 [ 6 [ 7 ] 81 9 [10] 11 ] 12 [ 183 14 [ 156 [ 16 | 17 | 18 | 19 | 20 | 21 [ 22 [ 23 [ 24 [ 25 [ 26 |
05 0.09 024 | o041 | 042 0.11 022 [ o018 0.19 ND ND ND ND 0.05 009 | 020 0.64 1.20 0.68 0.36 0.39 ND
10 0.07 0.06 ND | 084 0.27 0.19 0.14 ND ND 0.07 006 | 0.05 0.05 0.11 024 | 025 0.40 0.26 0.33 0.18 0.08
20 0.22 0.29 036 | 015 | 005 0.28 026 | 0.8 0.06 ND ND ND | 005 0.15 040 | 039 0.20 0.19 0.20 0.29 -
A 73.0 0.18 0.09 0.09 033 0.13 ND 0.28 . ND ND 0.09 o1 lei 0.07 0.06 i 0.63 ND 0.28 0.08 0.14 0.49 ND
40 = = = = = =] - &= = & = = - - - - - = = e -
50 = = = Z S = = = = = = = | = = = = || = = = =
6.0 B - = £ iy = - - = = - - - - - - = = = = -

70 = = = = = = o = = > = = E = = - = = = = =

05 = - 0.13 0.62 018 | - 0.27 008 0.13 0.18 0.10 0.19 ND 0.67 018 [ 110 %71 0.27 ND ND
1.0 071 | 0.17 0.21 ND 0.13 0.21 0.40 015 | ND 0.30 0.85 048 [ o020 | 094 | 0.23 ND

20 1.40 0.54 034 | 0.8 ~ ND = ND = 0.07 035 | 065 0.05 ND 2.40 0.06 ND

gl 30 0.65 0.31 0,06 0.1 ND = = = 0.07 050 | 007 | ND | ND 0.12 0.07 0.07

4.0 = = = = = = i = = = = = = = = = =,

50 = - = = = - = | = = = = | = - | - = =
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05 0.08 _0.19 0.19 0.17 0.54 0.10 0.08 0.18 0.88 0.09 ND

10 0.35 012 020 084 | 033 0.05 0.08 ND ND ND

20 020 052 0.12 006 § 007 0.09 0.10 = ND ND 0.09

c 30 ND 1.40 ND ND 061 0.30 0.05 = 0.18 0.08 0.07
40 W = = = = 007 0.14 0.04 = = = =
50 - = - = = = - = = - - -
60 = = = = = i - - - = = =

7.0 - = = - = N = = = - - -

0.5 0.10 0.10 0.29 027 0.77 0.23 0.08 0.20 0.05 0.16 0.58 160 | o072 | 054 0.65 0.15 ND

1.0 | o014 0.33 0.13 0.09 013 | 020 o012 | om ND 0.44 0.20 005 | 069 041 0.28 007 | o019 |

20 0.20 ND 007 | 037 ND 0.16 0.0 | 0.03 0.06 044 0.39 ND 073 0.69 0.29 005 | 007

D 30 0.44 0.67 0.42 ND ND 0.10 002 | 009 ND 043 0.06 0.08 0.11 0.14 0.26 0.05 0.08
40 - - - = = - 0.08 004 - - - - - 0.09 - - -

5.0 = = = - = = 0.01 = - - o - 0.05 E: - -

6.0 - N - - = = = - 0,02 = = - = ] = 0.06 - - -

1.0 = = - - - - - - - - - - - - - - -

[ 05 0.07 0.24 0.08 022 | 003 0.07 0.13 0.15 0.35 ND 014 | 0.18 1.20 0.08 | 062 0.20 031 | ND ND 0.06
|10 025 | 0.09 036|027 0.08 031 022 | ND 008 | o1 033 051 | 007 | o061 0.30 041 | 007 | 008 0.18
[_20 062 | 058 0.60 1.00 [ 080 0.10 0.20 ND 0,05 ND 023 | 008 | o008 044 | 006 014 | _00o § 005 006 | 006 0.97
Ei__a‘u 0.69 0.46 0.38 0.14 0.10 0.19 ND 0.11 ND ND 0.05 0.05 0.06 49 0.13 0.06 0.06 0.07 ND 0.08 0.12
40 = = = = = 5 = = —_ = 2 009 | - = L 1 e = = =
| 50 - - - 1 - - - - - - - - - - 009 - - - - - - -

60 = = - | - = = = = = = = = - Loz | - 2 = = E - -

7.0 - = = - - = = = - = = = = 0.12 = = = = = = =

| 05 0.91 0.43 012 | oi2 0.15 0.14 0.17 - 03 | - - —_ND ND - 0.06 0.05 -

1.0 0.71 0,04 1.20 0,09 ND | 019 0.06 0.15 006 | 007 0.17 - ND ND ND 0.06 006 | ND

T | 033 0.03 013 0.10 005 | 005 0.09 0.08 005 | ND ND | ND 0.06 ND ND ND ND 0.05
F \ 3.0 1.00 0.03 0.46 0.40 015 | 006 0.06 ND 0,08 0.06 ND | 007 0.05 0.10 ND ND | ND ND
| 40 - - - - - - - - - - - - - = - - - - -
50 = = § = = I = = = = CE . = = = ]
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7.0 = = = = & = # T = n = = = = = = = = =
o8 002 0.13 007 0.47 0.18 = 041 [T = 0.06 ND | 007 0.07 041 | 014 023 [ o010 0.08 0.06
BRI ND 0.31 = 035 0.38 0.21 - | oi3 = 027 - 0.22 0.23 ND |__066 024 | 020 0.06 0.13 0.05 0,05
|20 010 § 036 0.15 018 022 0.17 - 022 010 | 006 0.05 ND 0,06 0.06 ND 009 | ND 088 0.05 0.14 0.11
G 30 030 | 0.03 0.24 022 0.26 - 005 0.08 _ND 0.05 ND ND 0.05 ND ND ND ND 0.08 011 ND
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Ci T 2T 3T a1 8 T &1 7 1 &8 [ 8@ [T 10l 1t 1213 14] 1516 17 ] 181 19 [ 20 | 21 | 22 [ 28 [ 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 82 | 33 | 84 | 35 | 36 | a7 | 38 | 39 | 40 | 41 | a2 [ 43 | 44 |
0.5 ND 0.22 0.17 0.15 ND I 0.13 ND ND ND 0.11 0.08 ND ND 0.07 0.05 0.10 0.99 0.01 = S ND ND ND ND 0.12 0.53 0.18 0.21 0.33 ND ND 0.05
1.0 ND 0.06 0.07 008 | o 0.12 ND ND ND ND ND ND ND 0.23 0.19 0.06 ND = - | N0 | nD ND ND 0.26 0.31 011 | ND | 008 | ND | 007 ND
.20 0.74 0.18 0.09 0.10 043 0.05 0.05 ND 0.06 ND | ND 039 ND 010 | o041 | ND | ND 0.14 ND | 055 ND ND 0.09 ND 0.05 ND ND 0.05 ND 012 | ND
1 3.0 0.68 0.05 0.33 ND 025 | 0.26 0.06 005 | 0.06 ND 0.07 0.07 0.08 0.05 ND 021 0.16 0.05 0.18 0.06 ND ND ND 0.08 ND ND 0.08 ND 0.43 0.10
40 = = - e - | - - - - - - - - - - - - - - - - - - - - - - - - - - - | -
50 = = = = S = = = = = = = = - ] [ = = = = = = & = = = = = = = = = | Fies
6.0 - - = = S = - - - - - - - - - - - - - - - - - - - - = = = = = = = = - =
10 = = 2 & = = = = = = = = = = = = = = = & = = = = = = = = = = = = = = = =
=
ND ND — No | nND | ND 005 | 041 0.10 0.12 ND ND ND 0.05 ND ND 0.34 0.06 0.05 0.07 0.06 0.05 | o006 014 | ND | 009 0.11 ND ND 0.07 0.07 - 0.14
ND | K ND ND ND ND 0.08 = ND 0.07 ND_ ND ND 0.05 ND 015 0.06 _0.05 0.07 0.06 ND 0.07 0.06 ND 0.1 0.14 0.13 0.08 0.10 0.05 0.19
0.36 0.05 0.05 012 |  ND = ND ND_ ND 0.15 0.06 ND 0.19 0.10 0.14 0.06 0.06 0.06 ND 0.05 0.07 0.08 0.12 0.12 0.28 0.24 0.08 ND
011 0.10 ND 0.05 0.08 0.09 ND 0.06 ND 0.48 ND ND 0.05 0.09 0.05 007 | 004 | 005 020 ND 0.07 0.05 0.06 0.06 “ND ND 0.15 045 0.05 ND
= =
ND ND ND 0.15 025 | o010 ND 0.11 ND ND ND 0.05 ND 0.05 'ND | 011 | o020 ND 0.25 0.14 0.05 ND | ) 005 0.07 = 0.18 = NO | 0.7 =
ND ND 0.05 0.18 0.35 0.05 0.05 0.12 ND ND 0.05 __ND _ND | WD ND 0.17 0.08 0.27 0.04 0.07 0.07 = 0.10 0.06 0.05 0.03 ND ND ND
055 0.13 0.09 052 ND ND 019 | No | ND 0.13 0.05 0.05 ND ND 0.05 0.04 0.05 0.06 0.08 ND 0.06 0.12 0.03 0.18 ND ND
7 055 ND 005 | _ND | 0.6 19 | o ND 0.06 0.49 0.09 0.06 0.07 0.08 0.10 ND | 009 | 007 0.06 0,03 0.10 ND 008 K ND | o020 0.27 ND 0.02 005 | ND ND_
- = - - - = = = = = = - = - - - - | -1T -1 -1 - - 0.12 0.06 - = - = - 3 - - - 002 ] e
0.5 0.13 ND 0.1 0.09 = ND ND ND 0.06 ND ND 0.06 ND 0.07 0.10 0.10 0.05 KE ND 0.29 ND SE5:508 0.31 0.31 0.63 0.33 0.22 e ND
1.0 ND | ND 0.24 0.30 ND 0.25 ND 0.08 0.13 007 0.06 ND 043 | 033 | 024 ND 0,07 ND 0.64 0.44 = 3.10 0.09 0.19 ND 0.05
2.0 038 032 0.09 0.63 i "ND 0.18 0.33 0.08 ND _ 0.05 ND 0.07 ND 0.05 0.08 0.08 ND 0.07 0.07 0.10 0.14 0.26
i ND 051 ND ND 0.13 ND 1.40 0.05 ND 0.05 ND 0.05 ND 0.12 0.08 0.05 ND 4 U 0.06 ND ND 0.14 IEI 0.22 0.10 ND 0.14
0.5 0.46 0.37 & 0.06 ND ND ND ND ND ND 0.06 0.11 0.09 0.25 0.29 = 0.07 | [ 0.07 ND = - ND 0.20 033 0.10 0.44 = = 0.11 o | -
1.0 4.20 [NER | 024 | NO | ND ND ND ND 0.06 ND ND | o010 0.20 0.09 0.24 005 0.13 =] - 0.16 0.07 - | oos 0.09 0,09 0.36 0.08 0.36 007 0.1 0.1 B T
20 0.35 043 ND A NDG ~ 0.66 ND 0.05 ND 0.09 0.06 0.08 0.05 0.07 ND 0.05 0.08 0.42 0.06 0.11 0.03 0.13 0.18 0.15 0.19 0.10 0.07 0.20 0.09 ND
_<__ 3.0 0.05 1.10 040 | 0.05 0.25 ND 0.05 ND 0.06 0.05 0.06 0.09 0.05 0.16 0.06 ! 0.08 034 0.22 0.05 0.22 017 0.04 ND 0.14 0.24 0.07 0.15 0.54 0.15 ND 005 | ND
4.0 = o = = = = = - = = = = = = = - s = = = = = = = = = = = = = = = = = = = =
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7.0 2 = S & & = £ = 5 = & = = = = = = = = = = = = = = = = = = = 2 = = = 5 = =
05 .11 028 0.13 0.15 0.20 ND ND ND ND ND 0.07 008 027 018 0.56 0.07 ND 005 005 007 | ND ND 0.21 0.03 0.09 == = 050 | 020
1.0 0.26 0.13 0.12 0.19 0.24 ND 0.16 ND ND ND 0.07 0.05 0.13 ND 0.20 0.21 0.05 'ND AL 0.08 010 | ND 0.09 0.05 0.05 oi0 | o010 ND [ 027
20 0.39 0.05 0.15 0.21 ND 0.06 0.07 0.05 ND | ND | 006 ND 0.08 0.09 ND 0.08 0.21 0.20 0.33 ND 0.06 0.06 0.07 005 0.05 ND 0.10
N30 0.16 0.30 0.18 0.18 0.33 0.17 010 | 007 0.06 0.05 0.06 0.06 0.06 0.05 0.08 ND 029 | ~_ND 0.08 016 | ND ND 0.09 0.20 042 ND | 0.08 0.11
40 = = = : L=k IR N [ e = = = = = = - = s = = = = = = =2 A 2 A ] [ ) P e = = L = S PR = =
50 - 2 - = = = = = = = = ) R [ - 0.07 S [ - - - - - - - - - - - - - - = =
6.0 = =, = = bt [ S e e T = St e = as Sl e = ND = b = = = 2 = = e e e = = = S LR S 55 = S
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0.5 "ND 0.09 ND 0.08 ND ND ND 0.06 007 [ ND no | - | 006 0.09 0.11 0.09 056 f o013 | - 011 0.81 001 -
1.0 0.15 0.06 0.07 0.37 013 0.14 ND ND 0.05 009 | 009 | NO | o008 - 0.07 = ND 051 0.09 023 | oo7 | o68 | - 1 -
20 0.07 0.06 0.10 0.38 0.08 ND 0.05 0.09 0.03 0.09 ND 0.05 0.04 0.08 0.20 0.05 0.14 0, 0.10 015 0.03 014
o 3.0 007 | 006 ND ND 0.10 0.06 0.13 ND 0.24 005 | 018 032 | o004 | 005 | 031 0.05 0.06 ND | NO | 002 0,02 004 | 004 | 010
4.0 = = = = = T = = = = = S ISR o | e A | P | = o = =, = = = = = R
| 50 = T = - - - - - - - - - - - - - - - - - - - - = E -
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0.5 ND 0.25 0.61 ND 0.10 0.05 01 | ot 007 | o008 - 007 | o2z | - | o004 0.10 0.07
|10 006 | 009 0.65 ND ND | 006 0.16 015 | o0.10 0.07 - 0.7 0.25 | 008 | 020
| 20 0.11 0.05 PESB03E ND ND 0.08 0.09 ND 0.13 0.34 0.01 008 0.08 0.05 ND
| a0 0.61 0.11 0.19 = 005 | ND | 001 021 | 001 0.06 0.01 0.06 E il 002 | 006 | ND
40 s = = = = = = = “ = = - = & = = = ¥ =
5.0 - - - - - - - - - - - - - - - - = - =
6.0 - 5] = = - - - - - - - - - - - - = = =
7.0 = = = N = = = = = = = - = = = = S z =
05 047 | NOD 0.05 ND = ND | 007 H BCE 0,08 0.10
1.0 0.15 0.10 ND ND = ND 0.05 ND 0,01 0.05
20 006 | 005 .11 0.07 - ND [ 006 ] oo0e 0.05 _ND_
Q-3¢ ND ND 0.30 0.17 - 0.08 - ND 0.03 ND
40 = = = = = - = = = = = =
5.0 = = IR | R B L = = = = = =
6.0 - - - - - - - - - - - -
7.0 - - - - = = = = = = & =
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